TAKES ... STANDARD FORM - CALCULATION Justiaths

Q1.
(a) 1 1 B1 cao
(b} 0.000067 1 B1 cao
(c) 2.7 =104 2 M1 for 27 = 107 *8 or 27 = 1013
oe or
an answer of 2.7 x 10"where n is
an integer or
an answer of a x 10" where 1 < a
<10
A1l cao
Q2.
5= 102 2 M1 for3=6 = 10" or 0.5 = 10° or 500 or 30 000 000
=60 000
Al cao

Ml for 7 x 10™". n £ 8 ora % 10%. a £ 7 or 700000
000 or 0.7 x 10°
Al cao

Q4.
-3 —2 —4
18107 M2 | g, 2220 X3X80 ~ or 18x10™ or 0.0018 as
1 %1072
the answer
(M1 | for6 = 0.0003 or 0.06 x 0.03 or 1.8 x 10"
(n#—3) or 0.000018 + 0.01 or rewriting
one number in standard form)
Al cao
Q5.
500 = 250 000 [= 2 %1072 2 | M1 for an attempt to divide using two
0.002] numbers that are in consistent form eg
OR following an attempt to convert to
(5 =102) = (2.5 = 109) ordinary numbers, or standard form
[= (5+2.5)x10275 ] numbers.
R Al for2 = 1073
or2 = 10"
ﬂx i& [:2 = 10_3]
230 10
OR
300=100 3

250000100 2300
[= 0.002]




